[ Efficiency vs vertpos |

~ 0.2

R e o
o F : : :
O R proseeeee e
[8) I : : :
§0.14F - lyreeeiveeeeeeeene e R
8 n : : :
LR SRS . e
O.AF--H{{reveeieeereeneens R e
008:_ +|" " ; """""" i'"'-u- """" : """"""
0.06E [Tt ool
YT 200 11 0 Y0 11 O
0.02F : 4 T
8 “**F : : ]
T r : ]
o L H h
1_—---||-|Hr--1r-i -mriw---n-mr ----- Eqr -----------

o
©
a

=
o
N

Efficiend

107 1

10 0?
TP vertr (cr%)

—=— DQM_TT__originalREDO100
—e— DQM_TT__originalREDO100f
—— DQM_TT__originalREDO100fb

~ 0.2
20.18
o
>0.16
>
2
.90.14
o
£0.12
()
0.1F
0.08
0.06
0.04
0.02

.............................

............................

...................

.....

................

................

................

L 0OF

Ratio
N

0.95!

0

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

N 0.2
>
8018
£
50.16
20.14
oy
20.12
0.1
0.08
0.06
0.04

0.02

e

effic

..........................

........................

.....................

.....................

1.0

Ratio

N .

-+

QT

0.95

15 20
Sim. PV z (cm)

10




	Contents
	Page 1


